
 
 
 
 
 
 
 

Set 2 Code 57/1/2 

Section Question 
Number Answer 

A 

1 A) Soil A has a slower rate of decomposition than Soil B. 

2 C) 25 to 50 micrometer 

3 C) Menstrual phase, Follicular phase, Ovulatory phase, Luteal phase 

4 D) phenotypes = 4; genotypes = 9 

5 A) Preventing the process of translation of mRNA of the nematode. 

6 B) 5'-AAUGCUAGGCAC - 3' 

7 C) 50% 

8 B) Australopithecines Homo erectus → Neanderthal Homo sapiens 

9 D) Genetic Engineering Approval Committee 

10 D) Cell mediated immune response 

11 1 trillion times 

12 B) P: Zygote, Q: Suspensor, R: Cotyledon, S: Plumule 

13 A) Both (A) and (R) are true and (R) is the correct explanation of (A). 

14 C) (A) is true, but (R) is false. 

15 A) Both (A) and (R) are true and (R) is the correct explanation of (A). 

16 B) (A) is true, but (R) is false. 

 


